FHSEE EBEAES
(BHSEIR1BALTH6F2A290FT)
BEFEFFHEN HLEBSEDFRK

(Bf7 2 1)
s H &R
I RREAE
1 2% - ZWEH4E
BN 108,000
ZIUEA 4 180,000 288,000
2 FENA
AEYETHE DOFEE 0
B[RS OFE 0
D mEbft s OFHE 20,000 20,000
3 ZOMOILA
TEAF] B 0
RIS F 308,000
o &R
1 HEE
(1 A% 14,000
N-& 3 14,000
2) ZFofthirE
= 12,960
Il A 2
B mE 0
H{EE 0
THFE L2 0
XA TR 440
IR EARE 75,000
DR 0
FBLAFR 0
Z DR EE 88,400

HRAGE 102,400




2 EHE
(1 A%
NG -

(2) ZFofhfety
DR
BTN
A B
1E
THFESL 2
T HCE
NEEARE
Dint
FHETERE
BT

Z DOfiAREE
G
e A
4 1R A AR

M #RHE MR
H AN S F

IV R sVE
w M R

O 1 IE BRI PEXE AR

(AT il 1 Wk ot PE &
U LE R U PR

120,000

120,000

198,000
1,200

216,069

336,069

438,469

-130,469

0

-130,469

217,129

86,660




THSEE HEWER

TH6FE2A290KE

BREFEFZFHEAN GLEBZDFR

(M)

3]

B

I EHEDH
1 JRENVERE
B4
B TEA
AN 4
TENE FEAF

2 EHEEE
[ 7E & PE ARt
BHEAG

26,190
60,470

86,660

86,660

o A
1 jiEALE
R A4
ARAL A
FRY &
eI A AR

2 [HEA
i E A A E
é\

=

f“fE

o

TIT IEBREAPEDHS
P A A ol 1 R S P
4 1 T R S PE P AR
IERRAPEA BT
Bl K OIEMR EA B

217,129
-130,469

86,660
86,660




THSEE MEBHK

SFI6E2H298IRE
BEIIREFFHEA <6Lt}5$®$$§
(B4fr:-H)
= AR
I BEDOH
1 JRENERE
4 26,190
WA BEY FRFITRE IS 547
EmETEA B S EUFJRITRE R 59,923
HRUL 4 0
REhE PE S F 86,660
2 EHEEE 0
EEEEA 0
EREA R 86,660
I AFEOH
1 mEAaE
N4 0
*iLE 0
mENAESF 0
2 [ETEAfE 0
EHEABEAF 0
AEAE 0
IEBRRApE 86,660




